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Y 

Y 

X X 

⎯
→

⎯→

O 

 


 13bs cÖ‡kœi mgvavb  


 . (Ans.)



x1

(fi)

fixi 

.

.

. .

.

.

. .

n fixi = 

= 
1

n
 

k


i=1

fixi =  . (Ans.) 



− −

− −

− −

− −

− −

−

X-

Y-

X-

⎯
→

⎯→

Y 

X 

 



46–50 51–55 56–60 61–65 66–70 

5 10 20 15 10 

 14bs cÖ‡kœi mgvavb  
 −

46 − 50  5   5 

51 − 55  10 15 

56 − 60  20 35 

61 − 65  15 50 

66 − 70  10 60 

 n = 60  





(xi) (fi)  (xi fi)

46 − 50 48  5  240 

51 − 55 53  10  530 

56 − 60 58  20  1160 

61 − 65 63  15  945 

66 − 70 68  10  680 

  n = 60 xi fi = 3555 

1

n
 

k


i = 1
 fixi = 

1

60
  3555 = 59.25 (Ans.) 



46 − 50 45.5 − 50.5 5 

51 − 55 50.5 − 55.5 10 

56 − 60 55.5 − 60.5 20 

61 − 65 60.5 − 65.5 15 

66 − 70 65.5 − 70.5 10 

X-

Y-

Y 

X O 

→

5 

10 

15 

20 

45.5 50.5 55.5 60.5 65.5 70.5 

⎯⎯→
 

X- 45.5



 16bs cÖ‡kœi mgvavb  


n = 


(xi) (fi) (fixi) 

n = fixi = 

= 
1

n
 

k



i = 1
 fixi =   (Ans.) 


  

X- 

Y-

X-

⎯→

⎯
→

X 

Y 

 



 

 11 bs cÖ‡kœi mgvavb  
 −

 −




 

xi fi 

fixi



n fixi = 


fixi

 n



 

 

 

 

 

⎯→

⎯
→

x-

y-

x-





 10 bs cÖ‡kœi mgvavb  




fi xi fixi 

n  ∑fixi =  


∑fixi 

n
 = 





x - 

y- 

x - 

Y 

X O 



 

 11bs cÖ‡kœi mgvavb  





xi fi fixi 

 n ∑fixi  


∑fixi

n
  



X

Y

X

Y 

X O 



 

 

 10bs cÖ‡kœi mgvavb  




  


i) x  

xi) ixi)

−   

−   

−  

−  

−

−

−

 n = i xi  

= 
fixi

 

 = = 


  

−  

−  

−

−

−

−

−

n

X

Y

Y 

X 
O 

 

 



 

 

 11bs cÖ‡kœi mgvavb  




   


(xi) (fi) fi ui

−



−

−

−

−

−
  n =  fiui  

fixi

 

  x
–
 = 

k


i = 1
 fiui

n
 = 

 



− −

− −

− −

− −

− −

− −

x

y

x

Y 

X 
O 



 10 bs cÖ‡kœi mgvavb  




 −



xi  i  

ixi 

  

 
 
 
 
 

  n  ixi  


ixi 

n
 =



X - 

Y - 

X - 

 Y 

x o 

→

⎯→



(i) 

(ii) 

(i) 

(i) 

(ii)

 11 bs cÖ‡kœi mgvavb  



 (i) 

  

−  

−  

−

−

−

−

 (i) 

xi i  ixi 

−  

−  

−

−

−

−
n = ixi 


ixi 

n
 =

 

(ii) 







 






 


 


 


 

 

 



 

 11bs cÖ‡kœi mgvavb  


−

−

−

−

−

−

−


(fi) (xi) fixi

−

−

−

−

−

−

−

fixi

n



− −

− −

− −

− −

− −

− −

− −

X−

Y

X−



O X 

Y 

⎯⎯→

⎯
⎯

→



 

 
 10bs cÖ‡kœi mgvavb  

   



 







  
  
  
  
  
  
  

   
  
  

 



n = 








 

 =  

 = 

 



 

 
 11bs cÖ‡kœi mgvavb  





  



(xi) (fi)

(fixi)

n  fixi =

 x
–
 = 

 fixi

n
 =  



−

X

Y

X



Y 

X O 

 



 10bs cÖ‡kœi mgvavb  


−

−



n = 






n + 







 







(xi) 

(fi) fixi

−

−

−

−

−

n = fixi = 


fixi

n

 



 

 11 bs cÖ‡kœi mgvavb  



n








 

 =  

 =   







(xi) (fi) 

fixi

  

  

 

  

 

  

  
 n  fixi  

 = 
∑fixi

n
 =  





 
 10bs cÖ‡kœi mgvavb  







 










  

  =  

  =  



xi 

fi fixi 

−

−

−

−

−

−
  n  ∑fixi  

 −
x = 

∑fixi

n
 

     

 



 24bs cÖ‡kœi mgvavb  



 −

·

 (Ans.)



(xi) fi 

fixi 

.

. .

. .

.

.

. .

.

= 
1

n
 

k


i=1

fixi =  .  . (Ans.) 


  

n


n

(Ans.) 





 27bs cÖ‡kœi mgvavb  




= 


xi fi fi xi 

| |

| | |

/ | | | |

/ | | | | | 

| | | |

| | | |

| | |

| | |

n =  fixi =  

 =
fixi

n
 =  =  (Ans.) 



n = , 








 

  

(Ans.)

(Ans.) 



 28bs cÖ‡kœi mgvavb  



 n



n
 





n

 +  







 

 (Ans.)

 (Ans.)



xi f1 

fixi 

| |

| . .
| | | . .

/ | | | | | | | .
/ | | | | | | | .
/ | | | | | | . .
| | | | .
/ | | | | . .
| | .

n fixi = 

 = 
n

 
k


i=1

fixi   . (Ans.) 

 



 30bs cÖ‡kœi mgvavb  
 n = 

x1 = , x2 = x3 = 

−
x

−
x = 

 
−
x = 

1

x
 

k


i = 1
xi = 



 (Ans.)



 −



−

−

−

−

−

−

−



n = 








(Ans.)



56, 60, 42, 82, 75, 62, 38, 44, 55, 72, 
63, 86, 63, 50, 84, 46, 40, 72, 36, 72, 
80, 72, 64, 78, 59, 52, 72, 70, 85, 88 

10

 10 bs cÖ‡kœi mgvavb  
 88

36

 88 − 36 1 = 52 + 1 = 53

10
53

10
5.3

6

 6

 10

36-45  5 5 

46-55  4 9 

56-65  7 16 

66-75  7 23 

76-85 5 28 

86-95  2 30 


36, 38, 40, 42, 44, 46, 50, 52, 55, 56, 59, 60, 62, 63, 63, 64, 70, 
72,  72, 72, 72, 72, 75, 78, 80, 82, 84, 85, 86, 88 

n = 30



n

2

n

2 1

2

30

2

30

2 1

2

15 16

2

63 + 64

 2
 = 

127

2
 = 63.5

5 72

 72

63.5 72 (Ans.) 

 

AwZwi ³  Abykxj ‡bi  Rb  ̈m„Rbkxj  cÖkœe v̈sK (DËi  ms‡KZmn) 

 


 





 







  













†evW© eB‡qi  Abykxj bg~j K Kv‡Ri  mgvavb 







   

 

 



−



   

− −

− −

− −

− −

− −

− −

X-

Y-

X-

X 

Y 

X 

Y 

⎯
⎯

→

 

 









 















 







 



 


 


 




 

enywbe©vPwb mv‡RkÝ 
  

m„Rbkxj  mv‡RkÝ 
  

 cvV g~j v̈qb 
 



 
 
 

 
 
 

 
 
 

 m„Rbkxj DËigvjv 

 enywbe©vPwb DËigvjv 

 


